

Dated: June 2, 2005.

Joan E. Ohl,

Commissioner, Administration on Children,
Youth and Families.

[FR Doc. 05-11298 Filed 6-7-05; 8:45 am]

BILLING CODE 4184-01-P

DEPARTMENT OF HOMELAND SECURITY

Homeland Security Advisory Council

[Docket No. DHS-2005-0042]

Notice

AGENCY: The Homeland Security Advisory Council, Office of the Secretary, Department of Homeland Security.

ACTION: Notice of Federal Advisory Committee meeting.

SUMMARY: The Homeland Security Advisory Council (HSAC) will meet in partially closed session on Thursday, June 23, 2005. The HSAC will meet for purposes of receiving reports and briefings, and holding member deliberations. The HSAC will receive reports from the Private Sector Information Sharing Task Force, the Critical Infrastructure Task Force, and the Prevention of the Entry of Weapons of Mass Effect on American Soil Task Force. The HSAC will also hold roundtable deliberations and discussions among HSAC members.

DATES: This meeting will be held in Washington, DC on Thursday, June 23, 2005.

ADDRESSES: If you desire to submit comments, they must be submitted by June 15, 2005. Comments must be identified by DHS-2005-0042 and may be submitted by one of the following methods:

- EPA Federal Partner EDOCKET Web Site: <http://www.epa.gov/feddocket>. Follow instructions for submitting comments on the Web site.
- E-mail: HSAC@dhs.gov. Include docket number in the subject line of the message.
- Fax: (202) 772-9718.
- Mail: Katie Knapp, Homeland Security Advisory Council, Department of Homeland Security, Washington, DC 20528.

Docket: For access to the docket to read background documents or comments received, go to <http://www.epa.gov/feddocket>.

FOR FURTHER INFORMATION CONTACT: Katie Knapp, Homeland Security Advisory Council, Washington, DC 20528, (202) 692-4283, HSAC@dhs.gov.

SUPPLEMENTARY INFORMATION: Notice of this meeting is given under the Federal

Advisory Committee Act (FACA), Public Law 92-463, as amended (5 U.S.C. app. 1, *et seq.*).

Meeting Format

This meeting will be partially closed; the open portions of the meeting for purposes of receiving the Task Force reports listed above will be held at the Park Hyatt, 24th and M Streets, NW., Washington, DC, from 10 a.m. to 12 p.m. The portions of the meeting closed for the purposes of the detailed briefings will be held at The Park Hyatt from 8 a.m. to 10 a.m. and from 12 p.m. to 1:15 p.m. A closed session will then be held at the Department of Homeland Security Headquarters from 2 p.m. to 5 p.m.

Public Attendance

A limited number of members of the public may register to attend the public session on a first-come, first-served basis per the procedures that follow. Security requires that any member of the public who wishes to attend the public session provide his or her name and date of birth no later than 5 p.m., e.s.t., on June 15, 2005, to the Agency Official (listed above) via e-mail at HSAC@dhs.gov or via phone at (202) 692-4283. Persons with disabilities who require special assistance should indicate so in their admittance request and are encouraged to indicate their desires to attend and anticipated special needs as early as possible. Photo identification will be required for entry into the public session, and everyone in attendance must be present and seated by 9:45 a.m.

Basis for Closure: In accordance with section 10 (d) of FACA, the Secretary has issued a determination that the closed portions of this HSAC meeting will be addressing specific law enforcement issues and classified information which, if disclosed, would be likely to significantly frustrate implementation of a proposed agency action which has not been disclosed to the public nor is required by law to be disclosed to the public. Accordingly, the Secretary has determined that these portions of the meeting shall be closed pursuant to 5 U.S.C. App. 10(d) and 5 U.S.C. 552b(c).

Dated: June 3, 2005.

Michael Chertoff,

Secretary.

[FR Doc. 05-11436 Filed 6-7-05; 8:45 am]

BILLING CODE 4410-10-P

DEPARTMENT OF HOUSING AND URBAN DEVELOPMENT

[Docket No. FR-4974-N-01]

Notice of Proposed Information Collection: Comment Request; Ginnie Mae Mortgage-Backed Securities Guide 5500.3, Revision 1 (Forms and Electronic Data Submissions)

AGENCY: Office of the President of Government National Mortgage Association (Ginnie Mae), HUD.

ACTION: Notice.

SUMMARY: The proposed information collection requirement described below will be submitted to the Office of Management and Budget (OMB) for review, as required by the Paperwork Reduction Act. The Department is soliciting public comments on the subject proposal.

DATES: *Comments Due Date:* August 8, 2005.

ADDRESSES: Interested persons are invited to submit comments regarding this proposal. Comments should refer to the proposal by name and/or OMB Control Number and should be sent to:

Wayne Eddins, AYO, Reports Management Officer, Department of Housing and Urban Development, 451 7th Street SW., L'Enfant Plaza Bldg., Rm. 800a, Washington, DC 20410; fax: 202-708-3135; e-mail Wayne_Eddins@HUD.gov.

FOR FURTHER INFORMATION CONTACT: Debra Murphy, Ginnie Mae, 451 7th Street, SW., Room B-133, Washington, DC 20410; e-mail: Debra_L_Murphy@hud.gov; telephone (202) 475-4923; fax: 202-485-0225 (this is not a toll-free number) or the Ginnie Mae Web site at <http://www.ginniemae.gov> for copies of the proposed forms and other available information.

SUPPLEMENTARY INFORMATION: The Department will submit the proposed information collection to OMB for review, as required by the Paperwork Reduction Act of 1995 (44 U.S.C. Chapter 35, as amended).

This Notice is soliciting comments from members of the public and affecting agencies concerning the proposed collection of information to: (1) Evaluate whether the proposed collection of information is necessary for the proper performance of the functions of the agency, including whether the information will have practical utility; (2) Evaluate the accuracy of the agency's estimate of the burden of the proposed collection of information; (3) Enhance the quality,

utility, and clarity of the information to be collected; and (4) Minimize the burden of the collection of information on those who are to respond; including through the use of appropriate automated collection techniques or other forms of information technology, e.g., permitting electronic submission of responses.

This Notice also lists the following information:

Title of Proposal: Ginnie Mae Mortgage-Backed Securities Guide 5500.3, Revision 1 (Forms and Electronic Data Submissions).

OMB Control Number, if applicable: 2503-0033.

Description of the need for the information and proposed use: Ginnie

Mae's Mortgage-Backed Securities Guide 5500.3, Revision 1 ("Guide") provides instructions and guidance to participants in the Ginnie Mae Mortgage-Backed Securities ("MBS") programs ("Ginnie Mae I and Ginnie Mae II"). Participants in the Ginnie Mae I program issue securities backed by single-family or multifamily loans. Participants in the Ginnie Mae II program issue securities backed by single-family loans. The Ginnie Mae II MBS are modified pass-through MBS on which registered holders receive an aggregate principal and interest payment from a central paying agent on all of their Ginnie Mae II MBS. The Ginnie Mae II MBS also allow small issuers who do not meet the minimum

dollar pool requirements of the Ginnie Mae I MBS to participate in the secondary mortgage market. In addition, the Ginnie Mae II MBS permit the securitization of adjustable rate mortgages ("ARMs"). Included in the Guide are forms and documents used to collect information from the public, in order for Ginnie Mae to properly administer its MBS programs.

Agency form numbers, if applicable: 11700, 11701, 11702, 11704, 11705, 11706, 11707, 11708, 11709, 11709-A, 11710-A, 1710-B, 1710-C, 11710-D, 11710-E, 11711-A, 11711-B, 11712, 11712-II, 11714, 11714-SN, 11715, 11717, 11717-II, 11720, 1724, 11728, 11728-II, 1731, 11732, 1734, 11747, 11747-II, 11748-A, 11748-C, 11772-II.

ESTIMATION OF THE TOTAL NUMBER OF HOURS NEEDED TO PREPARE THE INFORMATION COLLECTION INCLUDING NUMBER OF RESPONDENTS, FREQUENCY OF RESPONSE, AND HOURS OF RESPONSE

Form	Appendix No.	Title	Number of respondents	Frequency of responses per year	Total annual responses	Hours per response	Total annual hours
11700	II-1	Letter of Transmittal ...	160	4	640	0.17	109
11701	I-1	Application for Ap- proval FHA Lender and/or Ginnie Mae Mortgage-Backed Securities Issuer.	16	1	16	1.50	24
11702	I-2	Resolution of Board of Directors and Certifi- cate of Authorized Signatures.	271	1	271	0.17	46
11704	II-2	Commitment to Guar- anty Mortgage- Backed Securities.	160	4	640	0.25	160
11705	III-6	Schedule of Sub- scribers and Ginnie Mae Guaranty Agreement.	271	12	24,144	0.0166	401
11706	III-7	Schedule of Pooled Mortgages.	271	12	24,144	0.0166	401
11707	III-1	Master Servicing Agreement.	271	1	271	0.17	46
11708	V-5	Document Release Request.	271	10	2,710	0.2	1,843
11709	III-2	Master Agreement for Servicer's Principal and Interest Custodial Account.	271	1	271	0.03	8
11709-A	I-6	ACH Debit Authoriza- tion.	271	1	271	0.25	68
11710A, 1710B, 1710C and 11710E.	VI-4, VI- 12, VI- 13.	Issuer's Monthly Ac- counting Report and Liquidation Schedule.	271	12	4,728,000	0.0166	78,485
11710D	VI-5	Issuer's Monthly Sum- mary Reports.	271	12	4,920	0.0166	81.67
1171A and 11711B.	III-5	Release of Security In- terest and Certifi- cation and Agree- ment.	271	12	24,144	0.0166	400.79

ESTIMATION OF THE TOTAL NUMBER OF HOURS NEEDED TO PREPARE THE INFORMATION COLLECTION INCLUDING NUMBER OF RESPONDENTS, FREQUENCY OF RESPONSE, AND HOURS OF RESPONSE—Continued

Form	Appendix No.	Title	Number of respondents	Frequency of responses per year	Total annual responses	Hours per response	Total annual hours
11712, 11712-II, 11717, 11717-II, 1724, 11728, 11728-II, 1724, 11728, 11728-II, 1731, 1734, 11747, 11747-II and 11772-II.	IV-6, IV-23, IV-4, IV-20, IV-8, IV-24, IV-5, IV-22, IV-21, IV-9, IV-10, IV-7.	Ginnie Mae I, and II Prospectus Forms.	271	12	24,144	0.0166	401
11714 and 11714SN.	VI-10, VI-11.	Issuer's Monthly Remittance Advice and Issuer's Monthly Serial Note Remittance Advice.	271	398	107,858	0.0166	1,790.44
11715	III-4	Master Custodial Agreement.	271	1	271	0.25	67.75
11720	III-3	Master Agreement for Servicer's Escrow Custodial Account.	271	1	271	0.25	67.75
11732	III-22	Custodian's Certification for Construction Securities.	75	1	75	0.0166	1.25
11749 A and 11748 C.	VI-6, VI-16.	Addendum to Monthly Accounting Report—Adjustable Rate Mortgage Loan Package.	196	8	1,568	0.0166	26.03
		Monthly Loan Level Reporting.	271	12	3,252	4	13,008
	IX-1	Financial Statements and Audit Reports.	271	1	271	1	271
		Mortgage Bankers Financial Reporting Form.	245	4	980	0.50	490
	XI-6, XI-8, XI-9.	Soldiers' and Sailors' Quarterly Reimbursement Request and SSCRA Loan Eligibility Information.	68	1,245	84,660	0.034	2,878.44
	VI-2	Form Letter for Loan Repurchase.	271	12	2,376	0.25	594.00
	III-21	Certification Requirements for the Pooling of Multifamily Mature Loan Program.	75	1	75	0.0166	1.25
	VI-9	Request for Reimbursement of Mortgage Insurance Claim Costs for Multifamily Loans.	20	1	68	0.25	17
	VII-1	Collection of Remaining Principal Balances.	271	12	3,252	0.001	7,329
		Data Verification Form	271	2	542	0.08	43
	III-9	Ginnie Mae Pool Issuance Correction Request Form.	41	12	492	0.0166	8.17
	III-13	Electronic Data Interchange System Agreement.	271	1	271	0.25	67.75
	III-14	Enrollment Administrator Signatories for Issuers and Document Custodians.	271	1	271	0.25	67.75

ESTIMATION OF THE TOTAL NUMBER OF HOURS NEEDED TO PREPARE THE INFORMATION COLLECTION INCLUDING NUMBER OF RESPONDENTS, FREQUENCY OF RESPONSE, AND HOURS OF RESPONSE—Continued

Form	Appendix No.	Title	Number of respondents	Frequency of responses per year	Total annual responses	Hours per response	Total annual hours
		Corporate Guaranty Agreement.	34	1	34	0.25	8.50
	I-4	Cross Default Agreement.	71	1	71	0.25	17.75
	VIII-2, VIII-3.	Transfer Agreements and Assignment Agreements.	79	1	79	0.25	19.75
	VIII-2, VIII-3.	Transfer Agreements and Assignment Agreements.	79	1	79	0.25	19.75
	VIII-1	Acknowledgement Agreement and Accompanying Documents—Pledge of Servicing.	10	1	10	1.00	10
	XI-2	Supervisory Agreement.	10	1	10	1	10
Total	193	5,041,343	100,642

Calculations

Total Annual Responses × Hours per Response = Total Annual Hours
 Estimated Cost to Respondents:

1. Mortgage industry employee salary: \$25.00 per hour \$25.00 × total Annual Hours = Cost Estimated Annual Cost to Government:

2. Ginnie Mae employee salary: \$29.00 per hour \$29.00 × Total Annual Hours = Cost.

3. Contractor expense is based on contract with Ginnie Mae.

Status of the proposed information collection: Extension/Modification of a currently approved collection.

Authority: Section 3506 of the Paperwork Reduction Act of 1995, 44 U.S.C. Chapter 35, as amended.

Dated: May 27, 2005.

Michael J. Frenz,

Executive Vice President, Government National Mortgage Association.

[FR Doc. 05-11310 Filed 6-7-05; 8:45 am]

BILLING CODE 4210-66-M

DEPARTMENT OF THE INTERIOR

Fish and Wildlife Service

Notice of Availability of the Post-delisting Monitoring Plan for the Tinian Monarch (*Monarcha takatsukasae*)

AGENCY: Fish and Wildlife Service, Interior.

ACTION: Notice of document availability.

SUMMARY: We, the U.S. Fish and Wildlife Service, announce the availability of the Post-delisting

Monitoring Plan for the Tinian Monarch (*Monarcha takatsukasae*) (Monitoring Plan). The status of the Tinian monarch will be monitored over a 5-year period from 2006 to 2010, through regular field surveys of the distribution and abundance of the Tinian monarch, regular field surveys for the brown treesnake (*Boiga irregularis*) on Tinian, and tracking of land use and development on Tinian.

ADDRESSES: Copies of the Monitoring Plan are available by request from the Hawaiian Bird Recovery Coordinator, U.S. Fish and Wildlife Service, Pacific Islands Fish and Wildlife Office, 300 Ala Moana Blvd., Box 50088, Honolulu, Hawaii 96850 (telephone: 808-792-9400; fax: 808-792-9580). This Monitoring Plan is also available on the World Wide Web at <http://pacificislands.fws.gov>.

FOR FURTHER INFORMATION CONTACT: Dr. Eric VanderWerf, Hawaiian Bird Recovery Coordinator, at the above Honolulu address, at eric_vanderwerf@fws.gov, or at 808-792-9400.

SUPPLEMENTARY INFORMATION:

Background

The Tinian monarch, or Chuchurican Tinian in the Chamorro language, is a forest bird endemic to the island of Tinian in the Mariana Archipelago in the western Pacific Ocean. The Tinian monarch inhabits a variety of forest types on Tinian, including native limestone forest, secondary vegetation consisting primarily of non-native plants, and nearly pure stands of

introduced tangantangan (*Leucaena leucocephala*).

The Tinian monarch was listed as endangered on June 2, 1970 (35 FR 8491) under the authority of the Endangered Species Conservation Act of 1969 (16 U.S.C. 668cc) and remained as endangered under the Endangered Species Act (16 U.S.C. 1531 *et seq.*) (Act), because its population was reported to be critically low due to the destruction of native forests by pre-World War II (WW II) agricultural practices, and by military activities during WW II. We conducted forest bird surveys on Tinian in 1982, which resulted in a population estimate of 39,338 Tinian monarchs. On November 1, 1985, we published a proposed rule to delist the Tinian monarch (50 FR 45632). Based on comments received, we instead downlisted the Tinian monarch, and a final rule reclassifying it from endangered to threatened was published on April 6, 1987 (52 FR 10890). There is no recovery plan specifying delisting criteria for the Tinian monarch. A study of Tinian monarch breeding biology in 1994 and 1995 resulted in a population estimate of approximately 52,900 birds. In 1996, a replication of the 1982 surveys yielded a population estimate of 55,720 birds. The 1996 survey also found a significant increase in forest density since 1982, indicating an improvement in Tinian monarch habitat quality.

On September 21, 2004, we published a final rule removing the Tinian monarch from the Federal List of Endangered and Threatened Wildlife and Plants (69 FR 65367). Our decision